Exercises 10.2
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The solutionis z = 1,y = 2. The solutionis z = 3, y = 2.
5 2z 45y =15
’ 4x + 10y = 20

Y
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\2‘: Sy=15 No solution. The lines are parallel, so there is
s 0 5 no intersection. ’
4x +10y=20

-5

7. —z4+y=2 <&  y=z+2. Substituting for y into 4z — 3y = —3 gives 4z — 3(z + 2) = —3
& 4x~-3r-6=-3 <& z=3,andsoy = (3)+2=>5. Hence, the solution is
(z,9) = (3,5).

9. z+2y=T7 <4 x=7-2y. Substituting for z into 5z —y =2 gives5(7—2y) —y=2 <&
3/5-10y—-y=2 <« -1ly=-33 & y=3,andsox="7—2(3)=1. Hence, the
solution is (1, 3). :

11. %:v + %y = 22 & 4 %y =4 & z=4- %y. Substituting for z into %a: - %y = 8 gives
t4-2y-2y=8 & $t-2Zy-1y=8 & 12-2y-10y=120 & y=-9,
and so z = 4 — 2(—9) = 10. Hence, the solution is (10, =9).

13. Adding gives 3z +2y =8
z—2y=0
4 =8 & z=2
Sor—2y=(2)-2y=0 & 2y=2 <« y=1. Thus, the solutionis (2,1).

z+4y =38 . . . . .
15. { 37+ 12y = 2 Adding 3 times the first equation to the second equation gives
=3z — 12y =-24 _
3z 412y =2

0 = —22, which is never true. Thus the system has no solution.



